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Q1. Choose the correct option-  

1)​ Which of the following number is divisible by 11?  
a)​ 253614      b) 4126547       c) 542146            d) 9076185 

2)​ If the number 481 __ 673 is divisible by 9 , then what would be the 
missing digit?  

a)​  6               b) 7                   c) 8                     d) 9  
 

Q2.   Find the HCF of 48,72 and 120 by prime factorisation method.  
 
 
 
 
 
 
 

 
Q3.  Find the LCM of 490 and 1155 by the common division method.  
 
   
 
 
 
 
 
 
Q4 The HCF of two numbers is 24 and their LCM is 1008. If one number is 
72, find the other number.  

 


